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B HEME |[BlER| & R HEEE RiEZE
dB (A) dB (A) (m/s)
# 50LLF R 46 |LAEREET. RAEREES. RAXERKE| 0.4N)
RO3. 11. 26 BDFE
06:00~ ] 48 LAERERS. BOF 0. 5(NNE)
07:10 5] 43 | FHAEREGRE. BOF 0. 9 (ENE)
it 47  |tEEREEE 0.1(W)
=S 55LLF R 49  |tEEREEET. RAEREGS. RAXERKE| 1.6 (NNW
RO3. 11. 26 ] 46 LAERERES. BRRE 1. 9 (NNE)
12:16~ ] 45  |FEAEREEE. EXOF 2. 0 (ENE)
12:52 it 47  |AEBREERS. MEEOT 1. 4 (NNE)
=4 50LLF R 46 |JLEEREEES. RAEREGS. RAXERKE| 0.4(ENE)
R03.11.26 i 49  |AERERS. ATEANMENDGE 1. 0 (NNE)
19:26~ E3] 42 |FHAERERE. ATEANENDBE. RITHS 1. 2 (ENE)
21:05 it 48  |LAEREGS. MEEOT 0.5 (SE)
® 45LLF R 47  |tAEREET. RAEREES. RAERAKES| 0.7 (NNW
RO3. 11. 26 ] 50 LAERERE. ATEARNMENDES 2.8(N)
22:18~ E3] 43 |[MEHOE. ATERNMENDE 2.1(E)
23:55 it 50 |JtEEREmE 1.9(S)
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B R WEE |AIES #w R S 8L
(dB) (dB)
B 55LLTF R 30K i -
R02. 11. 26 ] 30K i -
12:16~ ] 30K i -
12:52 it 30K i -
& 95LLTF R 30K i -
R02.11. 26 i 30K -
22119~ 5] 30K -
23:56 it 30K i -
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